Year 3 Maths Activity Mat

Section 1

Draw an arrow pointing to 5kg 250g.

Section 2

Complete this calculation:

Section 3 Section 6

One pencil costs 28p. What do 3

pencils cost? 140 + 20 + 20 =
Section 7

Section 4

What fraction is coloured in?

Multiply the two bottom numbers to find the missing
number.

12 3

Section 5

Measure this with your ruler. How long
is it in mm?

Section 8
Start at 126.

Count on 30.

What is your answer?
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Year 3 Maths Activity Mat: 3

Answers
Section 1 Section 3 Section 6
Draw an arrow pointing to 5kg 250g. One pencil costs 28p. What do 3
pencils cost? 140 + 20 + 20 = 180
84p
. Section 7
Section 4 Multiply the two bottom numbers to find the missing
What fraction is coloured in? number.
Section 2 2 1 12 3
. . oors
Complete this calculation:
8 9
Section 5 Section 8
X 2 Measure this with your ruler. How long Start at 126.
is it in mm?
1 7 8 Count on 30.
e— 37mm What is your answer? 156
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